Rode Heath Primary School: Week 2 Challenge day 3: Charlie Mackrory Year 2.

English:
Ques. 1 – What are they helping to express here in this poem? Panic, fear, surprise, shock
Ques 2 – Why do you think London ’s burning nursery rhyme is still sung today? So people can remember it
 How has it survived time?  Why hasn’t it just been forgotten about? It is easy to remember as it is a song which keeps repeating the same words.

Maths:
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Science:
This week I would like you to fill in your bean diary again and see what has changed.  Measure your plant and write on your picture how tall it is. Write the date on your picture.
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Here is your challenge question for this week. Look at these different seeds below:
[image: ]Which one is the 

Odd One out and why?
[bookmark: _GoBack]This is the odd one out because the seed has grown into a plant already
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Find a third 1
° Circle 3 of each group of items.
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o 3 children are sharing a bar of chocolate.

The chocolate is split
into 6 equal parts.

o

a) Draw lines to share the chocolate equally.
b) Complete the sentences. ‘ ‘
The whole chocolate bar is split into | 3
equal parts. ‘ ‘
Each child gets z, parts each.
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) Complete the bar model and number , ,
sentence.
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o Circle 3 of each group of items.

Complete the number sentences.
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o One third of a number is 4
What is the number?
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Who has more money? _mo
Because 1/3 of 9 =3

How do you know?
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o Whitney snaps two sticks into thirds.

o

1
Here is 3 of each stick.

stick A |

a) How long was stick A before

Whitney snapped it?
18 |m
b) How long was stick B before
N o
Whitney snapped it? 15 |em
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